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6. First P(f) = /k‘\/gdt = ?ktg’/z +ec So

P(0) = 500 = %(0) fe=c

So

2k
P(t) = 500 = —3—t3/2 + 500.
And 2k 2k
P(1) = 600 = ?(1)3/2 +500 = == =100.
So

P(t) = 100t*2 + 500.

7. a) F increasing means F’ = f > 0: on (—3,3.5). F decreasing means F’ = f < 0: on (3.5,4).
b) F has a local max means F' = f changes from + to —: at z = 3.5. F has a local min means F’ = f
changes from — to +: never.
¢) F concave up means F”' = f' > 0, i.e., f is increasing: (—1.5,1.5). F concave down means F" = <o,
ie., f is decreasing: (—3,—1.5) and (1.5,4).
d) F has a points of inflection when F” = f/ changes sign, i.e., when f changes from increasing to decreasing
or wvice versa: at © = =x1.5.




